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Note :— This paper contains fifty (50) multiple-choice questions, each carrying two

“lq

(2) marks. Attempt all the questions.

=l el v (4o) eglisedly uadl 8. e3s usdu A()

9. ol Uil Bd duil.

Which of the following is not concerned with micro-economics ?

(A) Product pricing (B) Factor pricing
(C) Study of the firms (D) National income and output
TA-uniell g 2Asraall 2ot wd 2iein quag il ?
(A wrg Baaalw B) waq Bualulza
(©) WAl vieuy O U 20as A Gowiee

The income-consumption curve generally :

(A) slopes upwards to the right (B) slopes downwards to the right

(C) is parallel to the X-axis D) is a vertical line

AU a5-Gueiiol Qs ¢

@) oHell cuygA Gyl ds sudl ¢l 8

B) wuell sy Al ds sadl €l ©

€ X4 Wild ¢lu &

@) Gofl Yvu iy &

If a firm in perfect competition has a U-shaped average cost curve in the

short run : :

(A) At least one of the factors of productioh must be subject to diminishing
returns |

(B) The firm must have some element of monopoly power

(C) Diseconomies of scale apply in the industry

(D) The firm must have a choice of plants of different sizes

A gl sdlsiSan eonuisll A, 35t suami U-susial 239 vy as 4uadl

Sy dl

(A) Gewteng il g As WA, d2dl HAdU Fand el QU

B) U, ifis SvgnABd 43 &
(©) Geloui se-ll As5u YU B
@) U, QR ser il yieoll 53 13 8
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4.

Opportunity cost describes :

(A) Cost related to an optimum level of production

(B) Variable cost

(C) " Short-run cost . ’

(D) Cost of one product in terms of production of other forégone

dsus wad agld & :

&) Geulgsirll Sed 2 d Asudal w3l

B) wRu v

(©) stusul vl

D) el 53l Gedign-l a3uui WA s arg-it Gcmaw otidrdal usdl vl
If each factor of production is paid according to its marginal productivity,
the total factor payment will be equal to the total output only when :
(A) " there is diminishing returns to scale

(B) there is constant returns to scale

(C)  there is increasing returns to scale

(D) no returns to scale

R Gedlgrdl 835 WA Al Aid Gewesdl 4ol AtdR Ysaai W d,
SA AEA ANA AHA A Goulert Al o A WU F PR

A) selasi A HAdR "eg ¥ Sy
@) selas WA wad Ru ¢y

(©) selasn WA wAdR aad ¥g sid
D) selas 2 HadR a2 deia 4 ¢iy
Total price effect is the sum of :

(A) individual price effects (B) indivi.dﬁal income effects

(C) substitution effects (D) income and substitution effects
54 [Bd 2R ’

A) AlRddd. Bud 2 B) ABddld 2Uds AU

(C) A AU ‘ D) Uds v AW AR
AWl B,
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1. Locus of Pareto optimality in production and consumption is given by :
(A) The Social Welfare Function |
(B) The Utility Possibility Curve
(C) The Transformation Curve
(D) The Grand Utility-possibility Curve
Gewtert A Guediomi A2l Sredudidl [Biguy :
(A) Aws see [A8y B) d¢feyr Asuadl ds
(O 3WdR A8 O & dReyR Aeuarl as
PEIRTICION: N
8. ‘ The quantity theory of money best explains economic behaviour :
- (A) during time of deep recession |
(B) when the economy is experiencing hyperinflation
(C) when the economy is in a liquidity trap
(D) when the ’economy enjoys stability
Al wRaueHl Rsid -
@) s HElAl AnARUAL LU
@B) rud veldani s goudl €iu cu-l
(© ol vildot drediAl Wil s curedl
@) wud weldat Rl 9r1ad ¢ia cn-l
ulls wasiz Sreud AHAd 8.

9. Inflation can be measured by :
(A) WPI . (B) CPI
(C) GDP deflator @) Al of the above
gollaA - |
A) WPI ‘ B)' CPI
(C) GDP deflator D) GuIdL dH

as Wyl usiu. | , o
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- 10.  The difference between GNP and GDP is :
(A) Net income from abroad (B) Depreciation
(C) " Net exports - (D) Taxes and subsidies
GNP 210 GDP a2+l dsldd : '
@A) [RRuidiell wadl Alvll 2uas  (B) wARL ‘
©) Al RAs D) $AA A Usdl
8. , |
11. M, stock of money is defined as :
(A) Currency and deposits with public -
(B) Currency and deposits with banks
(C) Currency with public and demand depdsits with banks
(D) Currency with public and total deposits with banks
UL el M; {l ey
Q) disl WAL A€l A ALl
(B) Avsl WA AdRll A gl
(C) disl WA Aael A A5 WA Sl-s el
@) dist WA aa A -5l WA ga wusi
12. In calculating GNP, which of the following is not included ?
(A) rental incomes '
(B) interest payments by the firms
(C) dividends ’
(D) government transfer payments
GNP -l 2>l 53l avicd QAunifl el wude udl el ?
A) oustl wuas |
B) Wil g1t adl euy ysaul
(C) et |
D) AWIR gl i@ Ysasll
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13. Full employment in the classical theory is achieved because :
(A) rigidity in wage market
(B) rigidity in commodity market
(C) flexibility in wages and prices
(D) inelastic supply curve of labour
WA Rgidui yol Aeoul wvd iy & 519 3 :
(A) ddrl QAL UScll
(B) drg, AL %Sl
(© Adll A Budini uRad-amadl
D) AH-L yasl asl ofl4Rauldeuysdl
14. The Phillips curve shows : .
'(A) an inverse relationship between the rate of inflation and the rate of emp-
loyment
(B) a positive relatlonshlp between nominal wage and the rate of unemploy-
ment
(C) an inverse relationship between the real and nominal wages
(D) a positive relationship between the rate of inflation and the rate of
unemployment
gl as
@A) goucu—u £ A thn‘l—u £ QA A Aoy
(B) . URiSU Ad A AUl 3 AL 8 Asiy
(O arRelas 2t ARANiflY dd-dl QA Hd 2Asia
D) gaucu-u €2 4 ARiyoudldl €3 a2l 4 Aoin
euld &
15. The economists who used capital-output ratio in their growth models are :
(A) A. K. Sen—Dreze
(B) D. T. Lakdawala and C. N. Vakil
(C) Harrod and Domar
1))] Jagdlsh Bhagwati and Padma Desai -
%HQ Wil 90 {3aui 3gl-Geute il Guylol 3%1 8 d vlare{lail
£
(A) ».5. A4 — §»
‘B) SL.A. awssianl A . AA. qslc-t
(C) 838 A simIR
@) %€l odtadl »A ysu 2w
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16.  Social overhead capital refers to :
(A) Expenditure on infrastructure
(B) Expenditure on capital goods

" (C) expenditure on exportable goods
(D) Expenditure on public sector
AHDS HLAviLG, HSlsWQL ¢
(A) idunvifla YRaw yadl Wy \
®) 3Ol a2l wl wal
(0 Rsuam axgal usd vl
D AR &st -l Y
zuld 9. /

17. Human Development Index does not include :

(A) Per capita income B) EduCation

(C) Life Expectancy (D) Poverty ratio

Weta Qs viisui : |
(A) Hwugls 2uas ® [(aaw o

© AR vy | @) el Yaia

Al AU Acdi -l
18. Big push theory was propounded by :

'(A) Leibenstein : (B)' Nurkse

(C) Rosenstein Rodan (D) None of these -
‘oflot Yo' Rigid : ’ |

A) AARZSA - - B) «8

©) ARSI D) AMiL S dl

GLRL BUMUML iieHl.
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19. The emphasis in the Mahalanobis model developed for Indian Pianning was

on :

‘(A) Agriculture (B) Infrastructure
(C) Heavy mdustnes (D) Exports

ol dudio M2 Al weaioll Msaul :

@) sB (B) AL @[?mlw
(C) ul Gelloil O s

YR G4 YsAUUL el sdl.
20. The technique of Input-Output Analysis is based on the assumption "of :

(A) increasing returns to scale (B) decreasing returns to scale
(C) constant returns to scale D) None of thése
AwaA-Geutet Radva-l wgla 4

(A) audi Fdl Had- Fus (B) Hedl %l Had-l Fus
© B2 dad-d Faw ®) il 5 Al

Al gl 4 vUaR U 9.

21. Relationship between economic growth and 1nequahty is captured by :

(A) Ph1111ps curve (B) Kuznets curve
(C) Okun’s law (D) Laffer's curve
s qle 2 A a2l ¥ei :

@A) sl as S B) sHeA as

(©) gt [ D) dlsL A%

gt Aadl asi 9.
22. The law of ever-rising public expenditure was advocated by :

(A) Adolf Wagner _ (B) Simon Kuznets
(C) Adam Smith ®) V.KR.V. Rao
Fiid asdl odl 282 vl [Rus | |
(A) ASies R (B) WS go-ed
©) 2uen ¥ o O d.3.2uz.dl.

gLl % SRAUML ULl
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23.

24.

25.

. 26.

Sum of the government expenditure multiplier and tax multiplier is 1 only
when budget is : :

(A) Surplus (B) Deficit

(C) Balanced (D) None of these

A v s 2 5 Jasll A 1 o wy 3 ourd 2ELA YA
A) Yidauq | B) vuaay,

(© Augdid - O) Axdl 518 Al

Sl

Primary deficit in the government budget is calculated by :

(A) fiscal deficit~revenue deficit (B) fiscal deficit-interest

(C) fiscal deficit—capital deficit (D) overall budget deficit

U slerrwinl wabls wadl AL AlAtiniell Aell gl iy & ?

@) s vua — w3yl wie  (B) sl W — 1%

© uwsu wa — 3yl wia D) wnu viewruolly Wy

The burden of an indirect tax can be fully shifted to the consumers when :
(A) demand is perfectly elastic (B) demand is highly elastic

(C) demand is perfectly inelastic (D) None of these

As ylal sl ol caud o uyelyd Al U WAL usiy 3wl

(A) #id Ayel yela €iy B) Ui G yeudad wvadl ey
(© Hid dyel 4ey wAya iy ®) Al SIS
Sl ‘ |
The chairman of the 12th Finance Commission is :
(A) C. Rangrajan | /(B) K. C. Pant
(C) Jaswant Singh o ‘ D) Raja Chelliahk
oML AR UL weae '
@ . Byt @) 3.4l g
(C) wudd Ria @O RvpA Adu
3 A
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27.

28.

29.

30.

- Which one of the following is a merit good ?

(A) Petrol (B) Communication

(C) Primary education (D) Irrigation
DAl 55 qayAs axg © ?

@A) Wla B) AAR
©) walks Raa O Ras

Which one of the following sources of revenue is not raised by the state

government ?

(A) Land revenue ’ (B) Entertainment tax

(C) Agricultural Income tax \ D) Income tax

Al vhcasl sUL Ald, UL SR gl GuUdM] Qi suadl el ?
A) o4 Hdyd . B) Hliwt AR

© §B 2uas AU D) 2uas 4

Which one of the following items does not fall under the current account of
Balance of Payments ?

(A) Exports and imports

(B) Income from Travel and Tourism

(C) .Loan from IMF

(D) Interest and Royalties =~ _
Al 59 [Qad, dagadl gatit g vt oo <l ?
@) As v suad

B) U siq ydenl 2uas

(C) iddl wal eisinnidl wael diq

M) Ux 2¢d Ul

The offer curve of a nation shows what the nation :

(A) can offer | (B) must offer

(C) willing to offer . (D) any of these

s UL e a5 A suld B 3 U g

(A) evid 53 U3 B B) £3vld sl AR

(€) sulkd sl 29t 4yd & (D) Ruiel 81§ dl

Eco.—I1 15 S o ~  PTO.



31. © The terms TRIPS and TRIMS are more related to :

(A) EFTA (B) GATT

(C) SAARC | (D) SAPTA
TRIPS i1 TRIMS AseAYel :

(A) EFTA " (B) GATT

(C) SAARC (D) SAPTA

WA ay Aeilfd B.

32. Euro-currency is referred to :

(A) Europian Union (B) NAPTA
(C) SAARC ® UK
YU A4 :

Q) yllun Ay (B) NAPTA
(C) SAARC D) y.5.
WA Aeifd V. '

33.  The latest ministerial meeting of WTO nations at Cancun failed because of
diagreement on :

(A) Subsidy on agriculture (B) Environmental issues

(C) Social issues (D) Removal of tariff barriers
3ogt wid WAl Rra cuwr Aud dedl ds{lseu-l Ass

@A) 5wl Asdl B wlard i el

(C) ABUDS Yeull D) st dariaidl ueg
Yl ainlan 5128 Fesa o, ’
34. [Example of cartel agreement can be given by :

(A) OPEC ‘ , " (B) GATT
(C) WTO ‘ | @) IMF
siddd Gelea Al sy & ?

(A) OPEC o (B) GATT
(©) WTO | . ©®) IMF

ECO.—II 1 2



| 35. Theory of Custom Union was propounded by :

(A) Ricardo (B) Heckscher-Ohlin
(C) Kindleberger D) Jacob Winer
#sid Aurl Rigid : |
Aa) Usisl B) su-iisdl
(C) f-sasdlr D) Fs6L UHHR
glRl Y SAAUML VUl .
36. Targeted growth rate for 10th five ‘year plan is :
A) 5% B) 7%
(C) 8% D) 10%
el duasly diw-uni qfa el qauis ¢
A) 5% B) ™%
C) 8% : D) 10%
8.
37. The share of service sector in the National Income in India is :

(A) more than 50% ] (B) more than 70%
(C) less than 30% o D) 40%
allrl AU Buasi Al doi-dl B .
A) 50% Sl AY, B) 70% sl 4Y,

(C) 30% $clL ML D) 40% |
3. _

38. ‘Currency and Finance’ Report in India is brought out by :

(A) Planning Commission
(B) Finance Commission

 (C) Reserve Bank of India
(D) National Council for Applied Economic Research
el ‘sl As s AU’
INBE S GTRERTEN T
(B) -uel du .
©) eurdly Aad &~
D) Auqd s16=0a s Awuss Ssiifls Aud
gl URe . 8.
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39.

40.

41,

42.

Which of the following states tops in HDI in India ?

(A) Gujarat \ (B) Punjab
(C) Delhi D) Kerala
GUAUL, Hird [Asin wisHi DAunizl Y URY A A B
@A) 9FUd (B uYus

© Red D) Ra

| The major part of agricultural land in India is under :
(A) Cash crops ’ (B) Food crops

| (C) Plantation crops (D) None of these
Al vl ol WA ey
A) AUsSlu ws (B) uilel uisl
(©) eudlad sl O) A™if 5 gl
RPN Y |

Which of the following states has the highest poverty ratio in India ?

(A) GuJarat , (B) Rajasthan -
(C) Uttar Pradesh (D) Orissa

ouRdl, A-unisl sut Apumi o leusHi Aeliv Al ay @ ?
@A) AxUd | (B) UMRAA

(© Gu: uEa » D) il 7
-Which of the following commodities is not under admLmstered price mechanism
in India ?

(A) Petrol | ,, (B) Kerosene

(©) Gas v (D) Fertilisers

ML, (AUl 5§ gl Bud w512 RallRa -l ?

@) Wid B) A

© AW @) “id2
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43.

44.

45.

46. ‘

~ -

Large percentage of the populatlon in the age group of 0-14 indicates the
presence of :

(A) Unproductive consumers ' (B) Low fertility rate -
(C) High death rate | - (D) Low birth rate
0—14 +ll ayogaui Rl Wl sl :

(A) oflBcues sl ®) QA uwnA eR
(©) GUL Yoy e » ‘ @) Al o €3
eld &

Consistency in the series can be measured by :

(A) Mean deviation v (B) Standard deviation
© Coefﬁcient of variation . D) Skewness

el Yaiolddt :

() wRe Raan B) wHRd [Qua-
(C) s O [Ryma

glal Wl wsiy 6.

~ When the frequency distribution is skew, which one of the following measures

of central tendency is appropriate ?

(A) Mean (B) Median

(C) Mode ' (D) Harmonic Mean

gl 2ugR Qdw [a\m el @R, -ﬂ’l'tl*ll%ﬂ 54l 3dlu a@aHdl Wugs Yoy

S ? .
(A) HHs ‘ | (B) ueRY

(C) olgas D) el s
For a symmetric frequency curve, skewness is :

(A) Positive (B) Negative
(C) Zero D) One

s ysia 2l as w2, Qv :

(A) @+ , ‘ B) =

© wr . D) As

sy 9.
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47.

48.

49.

50.

. If the probablhty of joint occurrence of two events is Zero, they are :

(A) “Collectively exhaustive (B) Statistically mdependent
(C) Mutually exclusive (D) None of these

A 6 Herllall WA oiatll Al Yy | dl, Al

Aa) [Fuan @) [Ra

(C) 4R (Rals v D) x4l siS Al

sly 9. ' :

Pearson’s correlation coefficient is invariant with respect to :
(A) Change in origin only

(B) Change in scale only

(C) Change in origin and change in scale both

(D) None of the above

Yyidnl ye:ioiais

(A) $5d4 GAUBigHL Fs1 UA

B) &5 Ve wlRadd ud

(C) Guuldig wRadd 21 3a YRadd 64 ud

@) Guunidl iS5 Al

YN W B,

For testing the independence of 2 attributes, we must use :
(A) Z-test : (B) t-test

(C) F-test | D) x2test

A JRUAMS AAURBAL @lcizdl yla 2 2 -

A) zZ-udlaw B) t-ulaw

(©) F-ulaw O x2-ywdlaw

Al GuEldL sl ASA.
Which one of the following is not a method of determmmg trend of a time-
series ?

(A) Smoothening the curve (B) Method of moving averages
(C) Method of moments (D) Method of least squares
A-unidl 5§ wgla, wnRs ALy aae Faldd sa w2l ugl -l ?
(A) st uMdd s B alad uunadl ugla

(©) yanaa-dl ugly © O gAdn aldl ygla

Eco.—II 16



Eco.—I1 179



ROUGH WORK
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